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(XA 1] (15 %)
Tosolve cosy dx—cosy dy—2(x—y)siny dy=0

[X2&2] 20 %)

Solve the initial value problem using the method of Laplace transformations:
7 +y =cosx

{ y'—z=sinx

and z(0)=-1, Z'(0)=-1, y(0)=1, y'(0)=0

(X7 3] (15 %)
Evaluate 1 = H (xX*dydz + x° pdzdx + x* zdxdy) , where S is the closed surface
s

consisting of the cylinder x* + y* = 4 and the circular disks z=0 and z =1.

(XA 4] (15 %)
To solve by matrix method
¥ =10y, 10y, -4y,
¥, ==10p, +y,-14y,
y;=—4y ~14y, -2y,

(X7 5] 20 %)
Consider the following boundary value problem:
Xy +3xy"+ Ay =0, y(1) = y(e’) =0
(1) Show that the above equation is a Sturm-Liouville differential equation.

(2) Find the eigenvalues and the corresponding eigenfunctions.
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[RA 6] (15 %)
Use the Laplace transform to solve
’u 0’u
oxt o’
u0,)=0, u@3,t)=0, t>0

O<x<t, £>0

5
u(x, 0)=sin—, % —y
ol



